=
<

o(d @) (rad)
a(d cot(d))

10721

oL L L R RL ) e o 1 AR A

o v o105k
T r T r
@ L @ L
- -
09537 1 0 1 2 3 0953 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s=— DQM_V0001_R000000001__Global _mkFitNewOLD1000time_ RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet12__RECO
- 1 =~ 1=
= F g
S s f
> ot
s [ ; : o
5 I ] : : S
107t i
TR : o
o 100% PR 1 I Y Y Y Y Y Y LY O Y Y o "
s g
x X o [
1__-- 1__..
09832 1 0 1 2 3 09832 1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

=

-
o
e
o
o
o
o UL LT LTI
O A R TIE A 1
it | l
Foree -3 tH- H4:
o ]
o suolrll RN I
g :
o L
-
0953 1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


